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 [1]  If you double 4th suit or cue in your suit below 3NT then 
 
 Pass One stopper or semistop 
 RD 2 or more small 
 NT At least 1½ stopper 
 Suit single/void in 4th or your suit 
 

[2] 1X – 1M, 2NT 4+M sound raise or 3M and 6+X (normal  1X – 1M, 3X) then 
 
 3X/M Signoff  
 3 low. unbid Asks, FG 
  3X/NT/4X 3M, 6+X then 
   3M M agreed 
   4X X agreed 
  3M 4M5X (22) or (31 with stiff H) 
  New SPL 
  
 1X -1M, 3X 6+X, 0-2M (normal 1X – 1M, 3X)  then 
 
 3M 6+M, FG 
 3 new NAT / Stopper 
 4 new CUE agreeing X 
 

[3] 1 - 1, 2 Relay a) NAT, 4+ 

   b) 18+, 4+ 
   c) 15-19 BAL 

   d) 6+, 0-2, FG 
 Responses: 

 2 8(9)+ FG opposite STR - then 

  2 a) 11-15 

  2 3, F1 

  2NT c) 2, F1 

  3 a) FG 

  3 b) FG 

  3 d) 

 2 2(1), weak 

 2 NAT, weak 

 2NT 0-1, weak 

 3 5+, 0-1, weak 

 3 6+, weak 

 3 3, FG 

 3 6+, INV, OK suit 
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[4] 1 - 1NT, 2 Relay a) NAT, 4+ 

   b) 18+, 4+ 
   c) 15-19 BAL 

   d) 6+, 0-3, FG 
 Responses: 

 2 8(9)+ FG opposite STR - then 

  2 a) 11-15 

  2 FG, not NT oriented 
  2NT FG 

  3/ NAT, FG 

  3 d) not strong suit 

  3 SPL, 15(43)/0544 

 2 2 6-7 – continuation as after 2 

 2 not MIN both minors, 10 cards 

 2NT MIN both minors, 54+ - then 

  3 FG 

  4/ INV 

 3/ 6+card MIN 

 3 Hx, 5 OK hand – then 

   3  agreed, FG 

   4 signoff 

   4  agreed, FG 
 

[5] 1 - 1NT, 2 Relay a) NAT, 4+ 

   b) 18+, 4+/ 
   c) 15-19 NT 

   d) 6+, FG 
 Responses: 

 2 8(9)+ FG opposite STR, denies 5 - then 

  2 NAT, FG 

  2 a) or c) - then 
   2NT INV, NAT 
  2NT FG 

  3/ NAT, FG 

  3 SPL, 51(43)/5044 

  3 d) not strong suit 

 2 5+ 6-10 – then 

   2 a) 
   2NT INV, NAT 

 2 2 6-7 – then 

   New suit, FG 

 2NT 0-1 MIN, 4+4+m may be 14(53)/13(54) - then 

  3 a) 

  3 INV 

  3 FG 

 3/ 6+card MIN 
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[6] Scramble used after balancing DBL where game is unlikely 

  

 2NT trying to find a fit 

 3X typically 5+card 

 

[7] Transfer Lebensohl used after 1NT and 2 opening and overcall from opponent 
 

 2NT 5+ INV+ or to play in a suit below opponents suit 
 3X TRF, INV+ if TRF to OPP suit then short in OPP suit “3-suited” 
 
[8] Culbertson 5NT asks for trump honour (AKQ)/length 
 
 7 trump suit  2 honours 
 1 below trump suit A or K 
 2 below trump suit Q 
 3 below trump suit extra length 
 
[9] Voidwood  when trump is agreed or agreeing trump 
 
 Jump to new suit shows void and asks for aces (RKCB/1430) outside this suit 
 
  


